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THE RATIO METHOD EXPLAINED 
What happens to my option when the underlying value is subject to a bonus issue, 
a (reverse) stock split, a rights issue, a special dividend, or a recapitalisation? 
 
When a stock is subject to one of the above events, the option is adjusted using 
the ratio method. Adjustments to the option are made in the evening before the 
effective date. This ensures that on the effective date, the exercise price remains 
in line with the (theoretical) price of the shares. The lot size is adjusted to make 
sure that the economic value of the option (excercise price x lot size) remains 
unaffected. 
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Ratio Method Explained 
 
The necessary elements to calculate the adjustment ratio are: 
P = The official closing price of the cum entitlement share on the Relevant Stock Exchange 
E = Value of the entitlement per share 
O = Cum amount of shares (old) 
N = Ex amount of shares (new) 

Adjustment ratio = (P – E) x O/N 
          P 
 
The lot size of the option is divided by the adjustment ratio. The exercise price of 
the option is multiplied by the adjustment ratio. 



INTERCONTINENTAL EXCHANGE 4 

Bonus Issue Example 
 
Company A issues 1 bonus share for every 10 shares held. The official closing 
price of company A is 100. 
 
Adjustment ratio =     (100 – 0) x 10/11 = 0.90909 
       100 
 
 
 
 
 
 
On the effective date, the lot size has changed from 100 to 110. 

Exercise price before the event 

                        90 
Exercise price on the effective date 

                   81.82 



INTERCONTINENTAL EXCHANGE 5 

Stock Split Example 
 
Company A effects a share split. Each existing share is replaced by 2 new shares. 
The official closing price of the company A is 100. 
 
Adjustment ratio =       (100 – 0) x 1/2    = 0.50000 
                                                     100 
 
 
 
 
 
 
 
On the effective date, the lot size has changed from 100 to 200. 

Exercise price before the event 

                        90 
Exercise price on the effective date 

                   45.00 
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Reverse Stock Split Example 
 
Company A effects a reverse split. Each 2 existing shares are replaced by 1 new 
share. The official closing price of company A is 100. 
 
Adjustment ratio =     (100 – 0) x 2/1  = 2.0000 
                                                100 
 
 
 
 
 
 
On the effective date, the lot size has changed from 100 to 50. 

Exercise price before the event 

                        90 
Exercise price on the effective date 

                   180.00 
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Rights Issue Example (1/2) 
 
Company A announces a rights issue. Shareholders receive one right for each share. Each 
10 rights allow for the purchase of 1 new share at a purchase price of € 65 per share. The 
new shares are not entitled to receive the announced dividend of € 2. The official closing 
price of company A is 100. 
 
The value of the entitlement has to be determined first. The necessary elements 
to calculate the value of the entitlement are: 
E = Theoretical value of an entitlement 
P = The official closing price of the cum entitlement share on the Relevant Stock Exchange 
S = Subscription price of one new share 
d = Dividend to which new shareholders are not entitled 
h = Number of existing shares specified as eligible for the entitlement 
r = Number of new shares specified as the entitlement 
x = 1 
 
E =    P – d – S 
          h / r + x 
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Rights Issue Example (2/2) 
 
 
In the above example the value of the entitlement is: 
100 – 2 – 65 = 3*** 
       10 +1 
 
As a result, the Adjustment ratio is:  
(100 – 3) x 1/1 = 0.97000 
      100 
 
 
 
 
 
 
On the effective date, the lot size has changed from 100 to 103. 

Exercise price before the event 

                        90 
Exercise price on the effective date 

                   81.82 
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Special Dividend Example 
 
Company A announces payment of a special dividend of €5 and an ordinary dividend of 
€2. On the effective date, the share will trade “ex” special and ordinary dividend. The 
official closing price of company A is 100. 
 
Adjustment ratio = (100 – 2 – 5) x 1/1= 0.94898 
                                                100 - 2 
 
Please note that “P” is corrected to take account of the price effect of the ordinary 
dividend going “ex” on the effective date. 
 
 
 
 
 
 
On the effective date, the lot size has changed from 100 to 105. 

Exercise price before the event 

                        90 
Exercise price on the effective date 

                   85.41 
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Recapitalisation Example 
 
Company A announces a share consolidation and a return of capital. Shareholders will 
receive €30 in cash. At the same time, six existing shares are replaced by five new 
shares. The official closing price of company A is 100. 
 
Adjustment ratio = (100 – 30) x 6/5 = 0.84000 
                                                100 
 
 
 
 
 
 
On the effective date, the lot size has changed from 100 to 119. 

Exercise price before the event 

                        90 
Exercise price on the effective date 

                   75.60 
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GENERAL REMARKS 

For bonus issues and (reverse) stock splits the adjustment ratio can simply be 
represented as: 
 
 
Please note that a covered option seller may need to reinvest the entitlement 
(e.g. the special dividend or return of capital) to keep the position covered. For 
instance, a special dividend may need to be used to purchase additional shares 
to cover the increased lot size. For French equity options (only), there is a 
mechanism to compensate for rounding differences that occur when the lot size 
is adjusted. 


